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public class Example {
public static void main(String[] args) {

int sum;

sum = 1@,2@);

System.out.println(sum);

static add(int x, int y)
t T“““%%ﬁ Gilol B2l EF

£
return x+y;
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1 é public class Example {

2 public static void main(String[] args) {

3 myPrint("hello World!!");

4:  } 5%

5 | i |

6 i “>static void myPrint(String str)

i

8 : System.out.println(str); hello World!!
0}

10 § }
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§ public class Example {
public static void main(String[] args) {

int number;

! ——==number =(getTen();}

System.out.println(number);
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8 :

9 é static int getTen() <= 10
0| o

11 return

12 E }

13§ }
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static void myPrint

g public class Example {

int number;

number = getTen();

myPrint 3

Tl Ed EFY Y+

int num)

System.out.println(num);

static int getTen()

{

16

17 ¢
18 !

return 10;

public static void main(String[] args) {
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public class Example {

public static void main(String[] args) {

(int_number} <

number = 100;

anotherNumber();

System.out.println("maun HIAHE &2");

System.out.println(number);

static void anotherNumber()

{

(int number} <

number = 200;

System.out.println("anotherNumber HIME &3");

System.out.println(number);
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1 public class Example {

2 public static void main(String[] args) {

3 int number = 100;

5 addTen(number)) ;

6

7 System.out.priptin("maun M E =3");
8 System.out.printin(number);

o 3}

10

11 static void addTen(int number)

12 : {

13 number += 10;

14 :

15 System.out.println("addTen A E &2");
16 System.out.println(number);
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(myPrint("hello World!!™));

(myPrint(number));
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static(void myPrint(String str))

{

b

System.out.println("myPrint(String str) QA E");
System.out.println(str);

static (void myPrint(int num))

{

b

System.out.printin("myPrint(int num) H|AE");

System.out.printin(num);
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‘actorial (n) . | | |
J v X factorialn—1) otherwise

static int factorial(int num)

{
(if(num == 11} num = 0 ) return 1;) e U5 QIS4
(return num * factorial(num-1);) & rfactorialtii el $%

}
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- hanoi(5) = hanoi(4) + 1 + hanoi(4)

1 + 2hanoi(4)
=14+ 2(1 + 2hanoi(3))

14+24+4+8+16 = 2°— 1

static void hanoi(int number, char from, char via, char to)
{
if(number == 1)
System.out.println(number+"tH T2 “+ from +"0|A "+ to +"2 FA");
else

{

hanoi(number -1, from, to, via);
System.out.println(number+"tH T2 "+ from +"0|A "+ to +"2 FA");

hanoi(number -1, via, from, to);
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(Math{sin(Math.PI/6));
ALZESH

erZb et (Math {cos(Math.PI/6));
(Math(tan(Math.P1/6));

(Math (max(100,200))) ;
(Math{min(100,200));

[
X
gy
[
My
.

T
i)

11}
o
oot
1

(Math.random() * 3);



